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1) Given the function f(x) = 12x + 1.
a)
Find f(4).
b) Find f(-3).

2) Evaluate the function f(x) = x2  – 3
when x = -2, 0, and 2.

3) Complete the function table for f(x) = 10 – 2x.
	
	Rule
	

	x
	f(x) = 10 – 2x
	f(x)

	–1
	
	

	
	
	

	0
	
	

	
	
	

	2
	
	

	
	
	


4) Describe and correct the following error for evaluating the function g(x) = –5x + 3
when x = –3.

x g(–3) = (–5)( –3) + 3

–3g = 18

g = –6

5) For the function f(x) = 6x + 9, find the value of x so that f(x) = 3.
Find the zero of the following functions.

8) f(x) = –12x – 36
9) g(x) = –x + 5

State the domain and range for each graph in set builder notation. Then tell if the graph is a function (write yes or no). If the graph is a function, state whether it is discrete or continuous.
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	10) Domain
	
	11) Domain
	
	12) Domain
	

	Range
	
	Range
	
	Range
	

	Function?:____________
	Function?:____________
	Function?:_____________
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13) Use the graph of the function g(x) to answer the following:
A) Find x if g(x) = 1

B) Find x if g(x)= 2
C) g(0)=
D) g(3)=
Is each relation a function or not? Explain why or why not.

14) {(4, -5), (0, -9), (1, 0), (7, 0)}

15) {(-2, -5), (4, 9), (1, 10), (-2, 4)}

16) For the relation { (3, 12), (5, 34), (12,54), (X ,22) }to be a function, X cannot be which of the following values? (Circle all that apply.)

3
5
12
22
34
54

17) Find the range for the function f(x) = 3x – 2
with domain values of -2, -1, 0, 1.

18) Find the intercepts for the following graph:
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19) Find the zero(s) of the following functions. a)
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b)

20) Which of the following functions has a zero at -9 ?

a) f(x) = –12x – 36

b) y = 4x + 36

c) y = 2x – 36

d) g(x) = –x + 5

Function Notation   

1.  Evaluate the following expressions given the functions below:

g(x) = -3x + 1

f(x) = x2 + 7
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a.   g(10) =

b.   f(3) = 

c.   h(–2) = 

d.   j(7) = 


e.   h(a)


f.   g(b+c)



g. f(h(x))


h.  Find x if g(x) = 16


i.   Find x if h(x) = –2


j.   Find x if f(x) = 23 

2.  Translate the following statements into coordinate points:

a.   f(–1) = 1

b.   h(2) = 7

c.   g(1) = –1

d.   k(3) = 9

3. Given this graph of the function f(x):


Find:

a.  f(–4) = 


b.  f(0) = 

c.  f(3)


d.  f(-5)

e.  x when f(x) = 2

f.   x when f(x) = 0

4.  Find an equation of a linear function given h(1) = 6 and h(4) = –3.

APPLICATION

5. Swine flu is attacking Porkopolis.  The function below determines how many people have swine where t = time in days and S = the number of people in thousands. 
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a. Find S(4).



b. What does S(4) mean?




c. Find t when S(t) = 23.



d. What does S(t) = 23 mean?




f(x)





y





x





5





5





-5





-5








